10. S(0) =400 fo,e =440
Stock XYZ has a current price of 100. The forward price for celivery of this stock in 1
year is 110.

Unless otherwise indicated, the stock pays no dividends and the annual effective risk-free
interest rate is 10%. T

L=0.10
Determine which of the following statements is FALSE.

(A)  The time-1 profit diagram and the time-1 payofi"diagram for long
positions in this forward contract are idertical.  TRUE ! (gbf Q“‘j

(B)  The time-1 profit for a long position in this forward contract is exactly -?omoxd
opposite to the time-1 profit for the corresponding short forward position. TRLE'¥ q?or
(C)  There is no comparative advantage to investing in the stock versus aw‘j dE\&V‘:RS

investing in the forward contract. T mﬁ!

If the 10% interest rate was continuously compounded instead of annual

effective, then it would be more beneficial to invest in the stock, rather
[ S s )

than the forward contract. '

If there was a dividend of 3.00 paid 6 months from now, then it would be
more beneficial to invest in the stock, rather than the forward contract,

Comparokive odvardase o ‘M@w Pm&*‘
long)  Stede © okt = S(TY - Fo,u((0))

= XU - 400 44 = SCM - Mg
L;M?5 Fovwoud : 'Pmc\;'\* EXUT -0 — 5 =

LoV\ﬂ Dtode : ?vc,\."\' = 5(T) - doo-g‘e.o‘w 2 Long Bvard
Long Forward: h{.‘* 2 4(T) = 4140 has o Liglor
poft

(®) FALSE



56, (for simplicityd 7

Determine which of the following positions has the same cash flows as a
position.

){ (A) Long forward and long zero-coupon bond

¥ (B)  Long forward and short forward

% (C)  Long forward and short zero-coupon bond
(D)  Long zero-coupon bond and short forward

(E)  Short forward and short zero-coupon bond
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UNIVERSITY OF TEXAS AT AUSTIN

Problem Set #4

More on basic hedging. Forward contracts

4.1. Payoff and profit for a producer of goods who hedges using a forward contract.

Problem 4.1. Consider the general case in which
- C stands for the total aggregate fixed and variable costs of production per unit of good;
- F stands for the forward price per unit of good.
What is the pric er unit of good at which the profit of a producer who hedges using a forward
contract equals the profit of the producer who does not hedge at all?

?ro,‘;'l- A U—ﬂ‘!\edged ta=C

A*= F

E%@@%@@&
"

Problem 4.2. A farmer produces one million bushels of corn. The total ccst of production is $1.3 million.
The farmer entered a forward contract to hedge at a forward price of $2.50 per bushel on one million bushels.
What is the farmer’s profit?

Problem 4.3. Assume that farmer Brown is uncertain about his crop yield. Based on past experience, he
thinks the following is a good model:

- 100,000 bushels with probability 1/4; & w

- 80,000 bushels with probability 3/4. s
How many forward contracts do you think farmer Brow should short to hedge against fluctuations in corn
prices at harvest time? Explain your way of thinking ...

INSTRUCTOR: Milica Cudina



